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Pulse Width--------—--——-—————- Bk 58
Propagation Delay------------- ZEIR
Period/Frequency-------------- JE BR/ A
Symbol Parameter Conditions Min Typ Max Units
t, Cutput Rise Time L= (3.0 ns/pF) C_ + 30 ns, Vpp = 5.0V 180 400
L= (1.5 ns/pF) C_+ 15 ns, Vgp =100V a0 200 ns
L= (1.1 ns/pF) G+ 10 ns, Vpp=15.0v 65 160
t; Output Fall Time = (1.5 ns/pF) C + 25 ns, Vg = 5.0V 100 200
= (0.Y5ns/pF) C_+12.5 ns, Vgp = 10V 50 100 s
= (0.55ns/pF) C_+ 9.5 ns, Vpp=15.0V as 80
trLy Turn-0ff, Turn-0n Delay teLy, tpyL = (1.7 nsfpF) C + 240 ns, Vpp = 5.0V 230 500
trHL AorBtoQorQ trLne by = (0.668 nsipF) C + 8 ns, Vpp =100V 100 250 ns
Cx =156 pF, Rx = 5.0 k2 teLy, tpyL = (0.5 ns/pF) G + 65 ns, Vgp = 15.0V 65 150
Turn-Off, Turn-On Delay trLne tpyL = (1.7 naipF) C + 620 ns, Vg = 5.0V 230 500
AorBtoQorQ teLH: tpL = (0.66 ns/pF) C_ + 257 ns, Vpp =10.0V 100 250 s
Cx =100 pF, Rx =10 ki tpL, bty = (0.5 nelpF) C + 185 ns, Vg = 15.0v 65 150
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1. Select Operation 4. Input Filter
« Time Mode e 10Mhz

« RiseTime e 1Mhz
e PulseWidth e 100Khz
« Delay * None
e Period Mode
- Frequency Mode 5. Trigger Voltages
« Duty Mode e Ragnes

Loz low voltage
2. Select Impedence

* Loz---50o0hm 6. Select Slope
o HiZ“‘lMOhm ° POS
* Neg

3. Input Terminal
- A/B



7. Pre-Scaler

Cycles to be 10.Starting/Completing
measure Measurement
8. Start Hold Off 11.TimeOut

9. Pre-Counter/Event-
Counter



double ex_time ;

imp=hiz ;
filter=neone ;

3. Set time imp=loz,tout=100ms— Setof impedance/timeout

4. Set time stch=a, spch=b ; — Set of start/stop channels

5. Set time st=lv,sp=2v ; — Set of trigger level

6. Set time stsl=+,spsl= +m,.E — Set of start/stop slopes

7. Set time hold=none ; A1 4 Hold off condition to add to a
start

8. Set time prec=5 ; " —+ Set of start pre-counter

9. set time filter=10meghz ; MOTEAL, Set of input filter

10, wait 3ms ; —+ Time required for secure relay
operation

Set time enable ;

Settings to lead signals to the time module
set chit on=1
set power on
wait #=xg etc.

13, ex_time=read_time();

14, test var(ex time),dlo=12.70ms,dhi=12.90ms, fbin=10; 5
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-------- Stop Trigger v/
-.-.- Start Trigger 1w

——> <—— Time to be Read
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